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Example 4. Draw the Lewis Structure for HOPO: ~H W' O m@ 0t O
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COVALENT compounds that VIOLATE the OCTET RULE
A. Inadditionto -/ . theatoms Po , 2 and_3 | areexceptions
as they have _ |2 < < than a full octet when they form covalent compounds.
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Example 5. Draw the Lewis ructure for BF3: F stae B rart F
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B. Elements in the 3 and periods of the periodic table

frequently attain _rno than a full octet when they form covalent

compounds. . .
> Therefore, the central atom will end up with _moe _than eight valence
electrons ; :
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Example 6. Draw the Lewis Structure for PCls: @ Ea ‘“,
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